
y = -0.0361x - 7.5385

-9

-8

-7

-1 -0.5 0 0.5 1 1.5 2 2.5

De
lta

 C
t

log ng DNA

UL122 vs RNaseP

y = 0.034x - 8.051

-9

-8

-7

-1 -0.5 0 0.5 1 1.5 2 2.5

De
lta

 C
t

log ng DNA

UL123 vs RNaseP

y = -0.0797x - 7.0485

-9
-8
-7

-1 -0.5 0 0.5 1 1.5 2 2.5

De
lta

 C
t

log ng DNA

UL54 vs RNaseP

y = -0.032x - 7.5894

-9

-8

-7

-6

-1 -0.5 0 0.5 1 1.5 2 2.5

De
lta

 C
t

log ng DNA

UL32 vs RNaseP

y = 0.0193x - 7.4663

-9

-8

-7

-1 -0.5 0 0.5 1 1.5 2 2.5

De
lta

 C
t

log ng DNA

US28 vs RNaseP
y = -0.029x - 7.0076

-9

-8

-7

-1 -0.5 0 0.5 1 1.5 2 2.5
De

lta
 C

t
log ng DNA

UL138 vs RNaseP

y = -0.0275x - 8.0805

-9

-8

-7

-1 -0.5 0 0.5 1 1.5 2 2.5

De
lta

 C
t

log ng DNA

RNA 2.7

Fig. S5


	Slide Number 1

